AU oake 2257

VYIMT=RAEBFEREK (12H)

A| B |® A «Feﬁ 15AT w & FRITE
1|K HRTAL
2 |& HRTAL
3 (L
4 |8 8:00~11:00 I\BHRERT=ZXI—k
5 | A BERE
6 | K WER#%~16:45 B ERT=Ra—k
7 |k WER#%~16:45 B ERT=Xa—k EYAEL AR LEHE
8 | K WER#%~16:45 INBHPERTZXa—k
9 (& e 2 7]
10 | £
1|8 INFTA= INE R FERT=Xa—F 5| R ESE
12| AR iRk ~16:45 I\BHRERT=ZX3—k
13|k iRk ~16:45 JNBHRERT=Xa—k £&H
14 | K HMEER
15 | K iRk ~16:45 J\BHRERT=Xa—k S HAK MRS

12 16 [ & iRk ~16:45 JNBHRERT=Xa—k S HAK MRS
17 £ 1FEAEKRE (2FKRA) BARPER 5| R ES R
18 | H 1FEREFiHBE
19 [ B BRAHHE
20 | X iRk ~16:45 INBRZERT = Z2a—h RERIBREIRE
21 | K i x A
22 | K R ~16:45 MBERSEET = 22—k F U HE L .
23 | & xR
24 | = 2FEHE R (1ERHA) BARBPZERK 5| R ES R
25 (A 2HE X2 FEA
26 | A 8:00~11:00 INIBhZET = 23—k *

27 | X 8:00~11:00 J\EP2ERT=Xa—+k I
28 | 7k 8:00~11:00 J\IBP2ERT=Xa—+k I
29 [ K RZE
2|2 |
31 |+ v




